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26-12-20-30~42-56~72~90~ 110
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(142+43+...+15)=(1+15)x15+2=120
120+8=15
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1520-1360=160

160+(8-4)=40
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6. Bottle A contained 540 ml of watermelon juice and bottle B contained 324 ml of watermelon
juice. After the same amount of juice was poured out ({Z]H}) from each bottle, bottle A
contained 4 times as much watermelon juice as bottle B. How much watermelon juice is left in
the bottle A? (A)290 (B)287 (C)289 (D)288

<fitr>

540-324=216

216+(4-1)=72

72x4=288 » #HE D o
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1436-474=962..... 14F
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(100+15+5)23=40

8. Andy divides a square (1= /57F) into two rectangles (= /5/F) A and B. It 4
is known that the perimeter (J& %) of A is 40 cm, and the perimeter of B
1s 56 cm. What is the perimeter of the original square?

<fitr> B

atb+atatb+a=40—4a+2b=40

atb+tb+atb+b=56—>2a+4b=56
6a+6b=96 > a+b=16

(atb)x4=64
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